394 3...'\3‘43,”\ g 341.@.& Jadl da gall wﬁ‘x‘\ Sladiay) '
. i +THATH | HEMHOZS g de B piad) 2ELL
. 2013.'&& +J:JJ.,G|+I3®50:ZJ.£':O j%_%: Wl—‘i‘jﬂjw}
- c_\l,.ual,,\ JS\ OJLA @ma.\ - wﬁftﬁi Eﬁ\‘rﬁw
230 o« 1 1Y) daa 2 = Jalaall B b a4

adds 14 A Aalkdl

(0 8) w9 AlasY
pAdal cillaad) Jadly pal .1

(52,34 + 13,637) — 25,53 = 40,447 (2 POINTS)
564,45 x 3,5=1975,575 (1 POINT)

192,5:1,75=110 (1 POINT)
(2/5+1/3):1/5=(6/15+5/15) : 1/5
=11/15x5

=11/3 (2 POINTS)
sl AN ey )i 2

55>5,5>1,5>0,5>1/5 (2 POINTS)
(0 6) Apuliil) 3
15:20=0,75h=45min (2 POINTS) seal gl L1 30l
45 + 5 =50 min = 50/60 h = 0,83 h (2 POINTS) e Leiain) 3l sadl®
15:0,83 = 18,07 km/h (2 POINTS) e a5 L b 3l A siall de ) *
A 12 dwwaigd)
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/ L1 =35° (1 POINT)

\ i IL=3cm (1 POINT)

I = 4,5 cm (1 POINT)

v ] (3points)  JSall 1 Jlaa (il

1000:2=500m (0.5 POINT) Sl saclall uld
500 : 2 = 250m (0.5 POINT) s _jrall sacldl uld
(2 POINTS) 4 )Y¥) dakaill dalise
37,5ha= @« sis( 500 + 250 ) x 1000 : 2 = 375000
ddaki 14 18l

2,03 m % dm =210,5cm (2 POINTS)
3345dag3,9hg=33840g (2 POINTS)

7,5a18 ca=0,0768ha (2 POINTS)
9,08 cm cube = 9,08 ml (2 POINTS)

S el musall aaa

(16 x 16 x 3,14) x 8,4 = 6752,256 dm cube =6752,256L (3 POINTS)
Al el Wl aas

6752,256 x 2/3 =4501,504 L (3 POINTS)
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